

Kenneth S. Williams; Nan Yue Zhang
Evaluation of two trigonometric sums

Mathematica Slovaca, Vol. 44 (1994), No. 5, 575--583

Persistent URL: <http://dml.cz/dmlcz/136630>

Terms of use:

© Mathematical Institute of the Slovak Academy of Sciences, 1994

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://project.dml.cz>

EVALUATION OF TWO TRIGONOMETRIC SUMS

KENNETH S. WILLIAMS*¹—ZHANG NAN-YUE**²

(Communicated by Stanislav Jakubec)

ABSTRACT. Let α and m be integers with $0 < \alpha < m$. In 1844 Eisenstein used the trigonometric identity

$$\sum_{k=1}^{m-1} \sin \frac{2k\alpha\pi}{m} \cot \frac{k\pi}{m} = m - 2\alpha$$

to give a proof of the law of quadratic reciprocity. In this paper we give two generalizations of this formula of Eisenstein.

1. Introduction

Let m , n and α be integers with $m \geq 2$, $n \geq 1$, $0 < \alpha < m$. We determine explicitly the values of the trigonometric sums $\sum_{k=1}^{m-1} \sin \frac{2k\alpha\pi}{m} \cot^n \frac{k\pi}{m}$ and $\sum_{k=1}^{m-1} \cos \frac{2k\alpha\pi}{m} \cot^n \frac{k\pi}{m}$ in terms of the values $B_1\left(\frac{\alpha}{m}\right), \dots, B_n\left(\frac{\alpha}{m}\right)$ of Bernoulli polynomials (Theorem, §3). The evaluations are carried out using the infinite partial fraction expansion of $\cot^n x$ (Proposition, §2).

2. Partial fraction expansion of $\cot^n x$

For integers p and v with $0 \leq v \leq p - 1$ we define the rational numbers $A(p, v)$ by

$$A(p, 0) = 1, \quad p \geq 1, \tag{2.1}$$

$$A(p, 1) = 0, \quad p \geq 2, \tag{2.2}$$

AMS Subject Classification (1991): Primary 11B68, 42A05.

Key words: Trigonometric sums, Eisenstein's formula, Bernoulli numbers (polynomials).

¹Research supported by Natural Sciences and Engineering Research Council of Canada Grant A-7233.

²Research supported by the National Natural Science Foundation of China.

$$A(p, p-1) = \begin{cases} 0, & p \text{ (even)} \geq 2, \\ (-1)^{(p-1)/2}, & p \text{ (odd)} \geq 1, \end{cases} \tag{2.3}$$

$$A(p, v) = \left(\frac{p-1-v}{p-1}\right)A(p-1, v) - A(p-2, v-2), \quad 2 \leq v \leq p-2. \tag{2.4}$$

From (2.1)–(2.4) we obtain

$$A(p, v) = 0, \quad 1 \leq v \text{ (odd)} \leq p-1, \tag{2.5}$$

$$A(p, 2) = -\frac{p}{3}, \quad p \geq 3, \tag{2.6}$$

$$A(p, 4) = \frac{p^2}{18} - \frac{7p}{90}, \quad p \geq 5, \tag{2.7}$$

$$A(p, 6) = -\frac{p^3}{162} + \frac{7p^2}{270} - \frac{62p}{2835}, \quad p \geq 7, \tag{2.8}$$

$$A(p, 8) = \frac{p^4}{1944} - \frac{7p^3}{1620} + \frac{3509}{340200}p^2 - \frac{127}{18900}p, \quad p \geq 9. \tag{2.9}$$

For a fixed even integer $v \geq 2$, $A(p, v)$ ($p \geq v+1$) is a polynomial in p of degree $v/2$ with no constant term. The coefficient of p^v is $\frac{(-1)^v}{3^v v!}$. From (2.1)–(2.9) we obtain the following table of values of $A(p, v)$ ($1 \leq p \leq 10, 0 \leq v \leq p-1$):

$p \setminus v$	0	1	2	3	4	5	6	7	8	9
1	1									
2	1	0								
3	1	0	-1							
4	1	0	$-\frac{4}{3}$	0						
5	1	0	$-\frac{5}{3}$	0	1					
6	1	0	-2	0	$\frac{23}{15}$	0				
7	1	0	$-\frac{7}{3}$	0	$\frac{98}{45}$	0	-1			
8	1	0	$-\frac{8}{3}$	0	$\frac{44}{15}$	0	$-\frac{176}{105}$	0		
9	1	0	-3	0	$\frac{19}{5}$	0	$-\frac{818}{315}$	0	1	
10	1	0	$-\frac{10}{3}$	0	$\frac{43}{9}$	0	$-\frac{718}{189}$	0	$\frac{563}{315}$	0

We are now ready to determine the infinite partial fraction expansion of $\cot^p x$ for p a positive integer.

EVALUATION OF TWO TRIGONOMETRIC SUMS

PROPOSITION. *Let p be a positive integer. Set*

$$\varepsilon(p) = \begin{cases} 0, & p \text{ odd,} \\ (-1)^{p/2}, & p \text{ even.} \end{cases}$$

Then, for $x \neq j\pi$ ($j = 0, \pm 1, \pm 2, \dots$), we have

$$\cot^p x = \varepsilon(p) + \sum'_{j=-\infty}^{\infty} \sum_{v=0}^{p-1} \frac{A(p, v)}{(x + j\pi)^{p-v}}, \quad (2.10)$$

where the prime (') indicates that in the summation the terms for $j (\geq 1)$ and $-j$ are taken together.

Proof. We prove (2.10) by induction on p . First

$$\begin{aligned} \varepsilon(1) + \sum'_{j=-\infty}^{\infty} \frac{A(1, 0)}{x + j\pi} &= \sum'_{j=-\infty}^{\infty} \frac{1}{x + j\pi} = \frac{1}{x} + \sum_{j=1}^{\infty} \left\{ \frac{1}{x + j\pi} + \frac{1}{x - j\pi} \right\} \\ &= \frac{1}{x} + 2x \sum_{j=1}^{\infty} \frac{1}{x^2 - j^2\pi^2} = \cot x \end{aligned}$$

by [1; p. 75, formula 4.3.91], proving (2.10) for $p = 1$. Secondly

$$\varepsilon(2) + \sum'_{j=-\infty}^{\infty} \sum_{v=0}^1 \frac{A(2, v)}{(x + j\pi)^{2-v}} = -1 + \sum'_{j=-\infty}^{\infty} \frac{1}{(x + j\pi)^2} = -1 + \operatorname{cosec}^2 x = \cot^2 x$$

by [1; p. 75, formula 4.3.92], proving (2.10) for $p = 2$.

Now we make the inductive hypothesis that (2.10) holds for $p = 1, 2, \dots, k-1$, where $k \geq 3$. As

$$\cot^k x = -\frac{1}{k-1} \frac{d}{dx} (\cot^{k-1} x) - \cot^{k-2} x,$$

the inductive hypothesis gives

$$\begin{aligned}
 \cot^k x &= -\frac{1}{k-1} \frac{d}{dx} \left(\varepsilon(k-1) + \sum_{j=-\infty}' \sum_{v=0}^{k-2} \frac{A(k-1, v)}{(x+j\pi)^{k-1-v}} \right) \\
 &\quad - \left(\varepsilon(k-2) + \sum_{j=-\infty}' \sum_{v=0}^{k-3} \frac{A(k-2, v)}{(x+j\pi)^{k-2-v}} \right) \\
 &= \sum_{j=-\infty}' \sum_{v=0}^{k-2} \frac{(k-1-v)}{(k-1)} \frac{A(k-1, v)}{(x+j\pi)^{k-v}} + \varepsilon(k) - \sum_{j=-\infty}' \sum_{v=2}^{k-1} \frac{A(k-2, v-2)}{(x+j\pi)^{k-v}} \\
 &= \varepsilon(k) + \sum_{j=-\infty}' \sum_{v=2}^{k-2} \left(\frac{(k-1-v)}{(k-1)} A(k-1, v) - A(k-2, v-2) \right) \frac{1}{(x+j\pi)^{k-v}} \\
 &\quad + \sum_{j=-\infty}' \left\{ \frac{A(k-1, 0)}{(x+j\pi)^k} + \frac{k-2}{k-1} \frac{A(k-1, 1)}{(x+j\pi)^{k-1}} - \frac{A(k-2, k-3)}{(x+j\pi)} \right\} \\
 &= \varepsilon(k) + \sum_{j=-\infty}' \sum_{v=2}^{k-2} \frac{A(k, v)}{(x+j\pi)^{k-v}} \\
 &\quad + \sum_{j=-\infty}' \left(\frac{A(k, 0)}{(x+j\pi)^k} + \frac{A(k, 1)}{(x+j\pi)^{k-1}} + \frac{A(k, k-1)}{x+j\pi} \right) \\
 &= \varepsilon(k) + \sum_{j=-\infty}' \sum_{v=0}^{k-1} \frac{A(k, v)}{(x+j\pi)^{k-v}}.
 \end{aligned}$$

This completes the inductive step and (2.10) follows by the principle of mathematical induction. □

3. Evaluation of $\sum_{k=1}^{m-1} \sin \frac{2k\alpha\pi}{m} \cot^n \frac{k\pi}{m}$ and $\sum_{k=1}^{m-1} \cos \frac{2k\alpha\pi}{m} \cot^n \frac{k\pi}{m}$

Making use of the Proposition, we prove the following Theorem.

THEOREM. *Let m, n, α be integers with $m \geq 2, n \geq 1, 0 < \alpha < m$. Then*

$$\begin{aligned}
 &\sum_{k=1}^{m-1} \sin \frac{2k\alpha\pi}{m} \cot^n \frac{k\pi}{m} \\
 &= \begin{cases} 0 & \text{if } n = 2p, \\ \sum_{v=0}^{p-1} \frac{(-1)^{p-v} (2m)^{2p-2v-1}}{(2p-2v-1)!} A(2p-1, 2v) B_{2p-2v-1} \left(\frac{\alpha}{m} \right) & \text{if } n = 2p-1, \end{cases}
 \end{aligned}$$

EVALUATION OF TWO TRIGONOMETRIC SUMS

and

$$\begin{aligned}
 & \sum_{k=1}^{m-1} \cos \frac{2k\alpha\pi}{m} \cot^n \frac{k\pi}{m} \\
 = & \begin{cases} 0 & \text{if } n = 2p - 1, \\ (-1)^{p+1} + \sum_{v=0}^{p-1} \frac{(-1)^{p-v+1} (2m)^{2p-2v}}{(2p-2v)!} A(2p, 2v) \cdot \\ & \cdot \left[B_{2p-2v} \left(\frac{\alpha}{m} \right) - \frac{B_{2p-2v}}{m^{2p-2v}} \right] & \text{if } n = 2p. \end{cases}
 \end{aligned}$$

P r o o f. The transformation $k \rightarrow m - k$ shows that for any positive integer p we have

$$\sum_{k=1}^{m-1} \sin \frac{2k\alpha\pi}{m} \cot^{2p} \frac{k\pi}{m} = \sum_{k=1}^{m-1} \cos \frac{2k\alpha\pi}{m} \cot^{2p-1} \frac{k\pi}{m} = 0,$$

so that it suffices to evaluate

$$\sum_{k=1}^{m-1} \sin \frac{2k\alpha\pi}{m} \cot^{2p-1} \frac{k\pi}{m} \quad \text{and} \quad \sum_{k=1}^{m-1} \cos \frac{2k\alpha\pi}{m} \cot^{2p} \frac{k\pi}{m}.$$

From the Proposition, we obtain

$$\begin{aligned}
 & \sum_{k=1}^{m-1} \sin \frac{2k\alpha\pi}{m} \cot^{2p-1} \frac{k\pi}{m} \\
 = & \sum_{k=1}^{m-1} \sin \frac{2k\alpha\pi}{m} \sum_{j=-\infty}^{\infty} \sum_{v=0}^{2p-2} \frac{A(2p-1, v)}{\left(\frac{k\pi}{m} + j\pi \right)^{2p-v-1}} \\
 = & \sum_{v=0}^{2p-2} A(2p-1, v) \left(\frac{m}{\pi} \right)^{2p-v-1} \sum_{j=-\infty}^{\infty} \sum_{k=1}^{m-1} \frac{\sin \frac{2k\alpha\pi}{m}}{(k+mj)^{2p-v-1}} \\
 = & \sum_{v=0}^{p-1} A(2p-1, 2v) \left(\frac{m}{\pi} \right)^{2p-2v-1} \sum_{j=-\infty}^{\infty} \sum_{k=1}^{m-1} \frac{\sin \frac{2k\alpha\pi}{m}}{(k+mj)^{2p-2v-1}}
 \end{aligned}$$

by (2.5). Next

$$\begin{aligned}
 & \sum_{\substack{j=-\infty \\ j \neq 0}}^{\infty} \sum_{k=1}^{m-1} \frac{\sin \frac{2k\alpha\pi}{m}}{(k+mj)^{2p-2v-1}} \\
 &= \sum_{j=1}^{\infty} \left\{ \sum_{k=1}^{m-1} \frac{\sin \frac{2k\alpha\pi}{m}}{(k+mj)^{2p-2v-1}} + \sum_{k=1}^{m-1} \frac{\sin \frac{2k\alpha\pi}{m}}{(k-mj)^{2p-2v-1}} \right\} \\
 &= \sum_{j=1}^{\infty} \left\{ \sum_{k=1}^{m-1} \frac{\sin \frac{2k\alpha\pi}{m}}{(k+mj)^{2p-2v-1}} + \sum_{k=1}^{m-1} \frac{\sin \frac{2(m-k)\alpha\pi}{m}}{(m-k-mj)^{2p-2v-1}} \right\} \\
 &= \sum_{j=1}^{\infty} \sum_{k=1}^{m-1} \frac{\sin \frac{2k\alpha\pi}{m}}{(k+mj)^{2p-2v-1}} + \sum_{j=1}^{\infty} \sum_{k=1}^{m-1} \frac{\sin \frac{2k\alpha\pi}{m}}{(k+m(j-1))^{2p-2v-1}} \\
 &= \sum_{j=1}^{\infty} \sum_{k=1}^{m-1} \frac{\sin \frac{2k\alpha\pi}{m}}{(k+mj)^{2p-2v-1}} + \sum_{j=0}^{\infty} \sum_{k=1}^{m-1} \frac{\sin \frac{2k\alpha\pi}{m}}{(k+mj)^{2p-2v-1}},
 \end{aligned}$$

so that

$$\begin{aligned}
 \sum_{j=-\infty}^{\infty} \sum_{k=1}^{m-1} \frac{\sin \frac{2k\alpha\pi}{m}}{(k+mj)^{2p-2v-1}} &= 2 \sum_{j=0}^{\infty} \sum_{k=1}^{m-1} \frac{\sin \frac{2k\alpha\pi}{m}}{(k+mj)^{2p-2v-1}} \\
 &= 2 \sum_{j=0}^{\infty} \sum_{k=1}^{m-1} \frac{\sin \frac{2k\alpha\pi}{m}}{(k+mj)^{2p-2v-1}} \\
 &= 2 \sum_{\ell=1}^{\infty} \frac{\sin \frac{2\ell\alpha\pi}{m}}{\ell^{2p-2v-1}} \\
 &= \frac{(-1)^{p-v} (2\pi)^{2p-2v-1}}{(2p-2v-1)!} B_{2p-2v-1} \left(\frac{\alpha}{m} \right)
 \end{aligned}$$

by [1; p. 805, formula 23.1.17]. Hence

EVALUATION OF TWO TRIGONOMETRIC SUMS

$$\begin{aligned} & \sum_{k=1}^{m-1} \sin \frac{2k\alpha\pi}{m} \cot^{2p-1} \frac{k\pi}{m} \\ &= \sum_{v=0}^{p-1} \frac{(-1)^{p-v} (2m)^{2p-2v-1}}{(2p-2v-1)!} A(2p-1, 2v) B_{2p-2v-1} \left(\frac{\alpha}{m} \right). \end{aligned}$$

Again from the Proposition, we have

$$\begin{aligned} & \sum_{k=1}^{m-1} \cos \frac{2k\alpha\pi}{m} \cot^{2p} \frac{k\pi}{m} \\ &= \sum_{k=1}^{m-1} \cos \frac{2k\alpha\pi}{m} \left\{ (-1)^p + \sum_{j=-\infty}^{\infty} \sum_{v=0}^{2p-1} \frac{A(2p, v)}{\left(\frac{k\pi}{m} + j\pi \right)^{2p-v}} \right\} \\ &= (-1)^p \sum_{k=1}^{m-1} \cos \frac{2k\alpha\pi}{m} + \sum_{v=0}^{2p-1} A(2p, v) \left(\frac{m}{\pi} \right)^{2p-v} \sum_{j=-\infty}^{\infty} \sum_{k=1}^{m-1} \frac{\cos \frac{2k\alpha\pi}{m}}{(k+mj)^{2p-v}} \\ &= (-1)^{p+1} + \sum_{v=0}^{p-1} A(2p, 2v) \left(\frac{m}{\pi} \right)^{2p-2v} \sum_{j=-\infty}^{\infty} \sum_{k=1}^{m-1} \frac{\cos \frac{2k\alpha\pi}{m}}{(k+mj)^{2p-2v}} \\ &= (-1)^{p+1} + 2 \sum_{v=0}^{p-1} A(2p, 2v) \left(\frac{m}{\pi} \right)^{2p-2v} \sum_{j=0}^{\infty} \sum_{k=1}^{m-1} \frac{\cos \frac{2k\alpha\pi}{m}}{(k+mj)^{2p-2v}} \\ &= (-1)^{p+1} + 2 \sum_{v=0}^{p-1} A(2p, 2v) \left(\frac{m}{\pi} \right)^{2p-2v} \left\{ \sum_{j=0}^{\infty} \sum_{k=1}^m \frac{\cos \frac{2k\alpha\pi}{m}}{(k+mj)^{2p-2v}} \right. \\ & \qquad \qquad \qquad \left. - \sum_{j=0}^{\infty} \frac{1}{(m+mj)^{2p-2v}} \right\} \\ &= (-1)^{p+1} + 2 \sum_{v=0}^{p-1} A(2p, 2v) \left(\frac{m}{\pi} \right)^{2p-2v} \left\{ \sum_{\ell=1}^{\infty} \frac{\cos \frac{2\ell\alpha\pi}{m}}{\ell^{2p-2v}} - \frac{1}{m^{2p-2v}} \sum_{\ell=1}^{\infty} \frac{1}{\ell^{2p-2v}} \right\} \\ &= (-1)^{p+1} + 2 \sum_{v=0}^{p-1} A(2p, 2v) \left(\frac{m}{\pi} \right)^{2p-2v} \left\{ \frac{(-1)^{p-v+1} (2\pi)^{2p-2v}}{2(2p-2v)!} B_{2p-2v} \left(\frac{\alpha}{m} \right) \right. \\ & \qquad \qquad \qquad \left. - \frac{(-1)^{p-v+1} (2\pi)^{2p-2v}}{2(2p-2v)!} \frac{B_{2p-2v}}{m^{2p-2v}} \right\} \end{aligned}$$

by [1; p. 805, formulae 23.1.18 and 23.1.20]. Hence

$$\begin{aligned} & \sum_{k=1}^{m-1} \cos \frac{2k\alpha\pi}{m} \cot^{2p} \frac{k\pi}{m} \\ &= (-1)^{p+1} + \sum_{v=0}^{p-1} \frac{(-1)^{p-v+1} (2m)^{2p-2v} A(2p, 2v)}{(2p-2v)!} \left[B_{2p-2v} \left(\frac{\alpha}{m} \right) - \frac{B_{2p-2v}}{m^{2p-2v}} \right]. \end{aligned}$$

□

From the Theorem and the values of $A(p, v)$ given in the table in §2, we obtain

$$\begin{aligned} \sum_{k=1}^{m-1} \sin \frac{2k\alpha\pi}{m} \cot \frac{k\pi}{m} &= -2mB_1 \left(\frac{\alpha}{m} \right), \\ \sum_{k=1}^{m-1} \sin \frac{2k\alpha\pi}{m} \cot^3 \frac{k\pi}{m} &= \frac{4m^3}{3} B_3 \left(\frac{\alpha}{m} \right) + 2mB_1 \left(\frac{\alpha}{m} \right), \\ \sum_{k=1}^{m-1} \sin \frac{2k\alpha\pi}{m} \cot^5 \frac{k\pi}{m} &= -\frac{4m^5}{15} B_5 \left(\frac{\alpha}{m} \right) - \frac{20m^2}{9} B_3 \left(\frac{\alpha}{m} \right) - 2mB_1 \left(\frac{\alpha}{m} \right), \\ \sum_{k=1}^{m-1} \sin \frac{2k\alpha\pi}{m} \cot^7 \frac{k\pi}{m} &= \frac{8m^7}{315} B_7 \left(\frac{\alpha}{m} \right) + \frac{28m^5}{45} B_5 \left(\frac{\alpha}{m} \right) + \frac{392m^3}{135} B_3 \left(\frac{\alpha}{m} \right) \\ &\quad + 2mB_1 \left(\frac{\alpha}{m} \right), \end{aligned}$$

and

$$\begin{aligned} \sum_{k=1}^{m-1} \cos \frac{2k\alpha\pi}{m} \cot^2 \frac{k\pi}{m} &= 2m^2 B_2 \left(\frac{\alpha}{m} \right) + \frac{2}{3}, \\ \sum_{k=1}^{m-1} \cos \frac{2k\alpha\pi}{m} \cot^4 \frac{k\pi}{m} &= -\frac{2m^4}{3} B_4 \left(\frac{\alpha}{m} \right) - \frac{8m^2}{3} B_2 \left(\frac{\alpha}{m} \right) - \frac{26}{45}, \\ \sum_{k=1}^{m-1} \cos \frac{2k\alpha\pi}{m} \cot^6 \frac{k\pi}{m} &= \frac{4m^6}{45} B_6 \left(\frac{\alpha}{m} \right) + \frac{4m^4}{3} B_4 \left(\frac{\alpha}{m} \right) + \frac{46m^2}{15} B_2 \left(\frac{\alpha}{m} \right) + \frac{502}{945}, \\ \sum_{k=1}^{m-1} \cos \frac{2k\alpha\pi}{m} \cot^8 \frac{k\pi}{m} &= -\frac{2m^8}{315} B_8 \left(\frac{\alpha}{m} \right) - \frac{32m^6}{135} B_6 \left(\frac{\alpha}{m} \right) - \frac{88m^4}{45} B_4 \left(\frac{\alpha}{m} \right) \\ &\quad - \frac{352m^2}{105} B_2 \left(\frac{\alpha}{m} \right) - \frac{7102}{14175}. \end{aligned}$$

EVALUATION OF TWO TRIGONOMETRIC SUMS

The first of these trigonometric identities was discovered by Eisenstein [2] in 1844 and used by him to prove the law of quadratic reciprocity.

REFERENCES

- [1] *Handbook of Mathematical Functions* (M. Abramowitz and I. A. Stegun, eds.), Nat. Bur. Standards, Washington, D.C., 1964.
- [2] EISENSTEIN, G.: *Aufgaben und Lehrsätze*, J. Reine Angew. Math. **27** (1844), 281–283. (In: *Mathematische Werke*. Band I (Second edition), Chelsea Publishing Company, New York, 1989, pp. 108–110).

Received February 14, 1994

** Department of Mathematics and Statistics
Carleton University
Ottawa, Ontario K1S 5B6
Canada
E-mail: williams@math.carleton.ca*

*** Information Department
The People's University of China
Beijing 100872
P.R. China*